

Pay Estimate Created Date: September 15, 2020

Progress	s Estimate Number	Contract ID	191018-G03		Pay Period Start	September 2, 2020	Original Contract Amo	ount \$2,665,288.01		
6		Prime Contractor	e Capital Paving & Construction, Pa actor LLC		Pay Period End	September 15, 2020	Net Change Order Amount Current Contract Amo	(\$975.93) unt \$2,664,312.08		
Approval Date								By User		
September 15, 2020	Generated and Approved (and should be considered Draft) at the Project Office Level by									
September 18, 2020			Reviewed and Appro	oved (and sh	nould be consider	ed Draft) at the Resi	dent Engineer Level by	roeged1		
September 21, 2020				Reviewed a	nd Approved at th	ne Central Office Co	ntrollers Office Level by	greggd1		
Original Comp	letion Date	Curre	nt Completion Date	Actual	Completion Dat	e % of 0	Current Contract Amou	nt Complete		
November	1, 2020	No	ovember 1, 2020				98.15%			
No Milestones Exist	for Contract									

Contract Total Pay For Estimate No. 6 This Estimate Previous To Date 191018-G03 \$90,659.64 **Total Posted Items Pay** \$2,524,340.39 \$2,615,000.03 (\$4,629.57) Gross Item Adjustments (\$188,141.60) (\$192,771.17) \$0.00 Incentive \$0.00 \$0.00 Disincentive \$0.00 \$0.00 \$0.00 Liquidated Damage \$0.00 \$0.00 \$0.00 Other Contract Adjustments \$0.00 \$0.00 \$0.00 \$2,422,228.86 \$2,336,198.79 Contract Total Payable This Estimate: \$86,030.07 Items Paid This Estimate Period Unit Unit Price **Current Installed Current Installed** Project Line Item Item Description Number Number Code Qty Amount J7S3232 0280 3105002 GRAVEL (A) OR CRUSHED STONE (B) TONS \$13.530 1 \$13.53 0300 4071005 TACK COAT GAL \$2.220 6,534 \$14,505.48 0310 6123000A TRUCK OR TRAILER MOUNTED ATTENUATOR ΕA \$506.290 2 \$1,012.58 (TMA) Project J7S3232 - Total \$15,531.59 J7S3408 3049910 MISC.PERMANENT AGGREGATE EDGE TONS 0440 \$32.080 763 \$24,477.04 TREATMENT 0450 3105002 GRAVEL (A) OR CRUSHED STONE (B) TONS \$17.030 720 \$12,261.60 0470 4071005 TACK COAT GAL \$2.220 4,047 \$8,984.34 0540 6162004 TEMPORARY SHORT-TERM RUMBLE STRIPS \$1,518.880 4 \$6,075.52 EA 0550 6181000 MOBILIZATION LS \$31.450.280 0.5 \$15,725,14 MODIFIED COLDMILLING (DEPTH TRANSITIONS) 0590 6224010 SOYD \$9 240 713.4 \$6,591.82 0600 CONTRACTOR FURNISHED SURVEYING AND LS 6274000 \$1,012.590 1 \$1,012.59 STAKING Project J7S3408 - Total \$75,128.05 **Overall - Total** \$90,659.64 Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J7S3230	0140	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS		Retroreflectivity Adjustment	Copy of report and adjustments are on file and a copy sent to the contractor.			(\$142.92)
	0150	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P		Retroreflectivity Adjustment	Copy of report and adjustments are on file and a copy sent to the contractor.			\$179.99



Pay Estimate Created Date: September 15, 2020

	Progre 6	ess Estimate Number	Contract ID Prime Contractor	191018-G0 Capital Pav LLC)3 ving & Constructic	Pay Period Start ^{n,} Pay Period Enc	September 2, 2020 September 15, 2020	Original Contrac Net Change Ord Amount Current Contrac	er (\$9	975.93)
Project Number	Line No.	Item De	escription	Adjustment Type	Other Item Adjustment Type	Con	nments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J7S3230			BEADS							
J7S3408	0440		MISC.	Overrun				-103	\$32.08	(\$3,304.24)
	0450	GRAVEL (A)	OR CRUSHED STONE (B)	Overrun				-80	\$17.03	(\$1,362.40)
Total										(\$4,629.57)



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					Contract Project Information					
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work					
J7S3230	FAS S601(79)	Resurface	BB	BENTON	from Route 65 to end of state maintenance					
J7S3232	FAS S601(80)	Resurface	Μ	BENTON	om beginning of state maintenance to Route 7					
J7S3408	FAS- S603(005)	Resurface	В	BENTON	from Route 52 in Cole Camp to end of state maintenance					

Totals by Job Numbers

J7S3230		This Estimate	Previous	To Date
Po	sted Item Pay	\$0.00	\$756,728.55	\$756,728.55
	oss Item Adjustments	\$37.07	(\$45,590.46)	(\$45,553.39)
	Gross Item Pay	\$37.07	\$711,138.09	\$711,175.16
	centive	\$0.00	\$0.00	\$0.00
	sincentive	\$0.00	\$0.00	\$0.00
	quidated Damages	\$0.00	\$0.00	\$0.00
Ot	her Contract Adjustments	\$0.00	\$0.00	\$0.00
J7S3232		This Estimate	Previous	To Date
	sted Item Pay	\$15.531.59	\$723,090.98	\$738,622.57
	oss Item Adjustments	\$0.00	(\$50,738.55)	(\$50,738.55)
0.	Gross Item Pay	\$15.531.59	\$672,352.43	\$687,884.02
		,		
	centive	\$0.00	\$0.00	\$0.00
Dis	sincentive	\$0.00	\$0.00	\$0.00
	quidated Damages	\$0.00	\$0.00	\$0.00
Ot	her Contract Adjustments	\$0.00	\$0.00	\$0.00
J7S3408		This Estimate	Previous	To Date
	sted Item Pay	\$75,128.05	\$1,044,520.86	\$1,119,648.91
	oss Item Adjustments	(\$4,666.64)	(\$91,812.59)	(\$96,479.23)
	Gross Item Pay	\$70.461.41	\$952.708.27	\$1,023,169.68
	croco item ruy	<i>viviiiiiiiiiiiii</i>	\$552,755.27	\$1,020,100.00
Inc	centive	\$0.00	\$0.00	\$0.00
Dis	sincentive	\$0.00	\$0.00	\$0.00
	quidated Damages	\$0.00	\$0.00	\$0.00
	her Contract Adjustments	\$0.00	\$0.00	\$0.00

Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Item Overrun: Contract 191018-G03, Contract Project J7S3408, Project Item Line Number 0440, Contract Line Item Number 0440, Item 3049910, Minor Item.	Change Order No 0003 for Job J7S3232 has been sent to the contractor awaiting its return to further process Change Order No 0004 which covers Line Items 0440, 0450, and 0460.	GIRGIA	Acknowledged
Estimate Exception Type: Item Overrun: Contract 191018-G03, Contract Project J7S3408, Project Item Line Number 0450, Contract Line Item Number 0450, Item 3105002, Minor Item.	Change Order No 0003 for Job J7S3232 has been sent to the contractor awaiting its return to further process Change Order No 0004 which covers Line Items 0440, 0450, and 0460.	GIRGIA	Acknowledged
Estimate Exception Type: Item Overrun: Contract 191018-G03, Contract Project J7S3408, Project Item Line Number 0460, Contract Line Item Number 0460, Item 4020520, Minor Item.	Change Order No 0003 for Job J7S3232 has been sent to the contractor awaiting its return to further process Change Order No 0004 which covers Line Items 0440, 0450, and 0460.	GIRGIA	Acknowledged

Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

d date and can differ from the posted amount at the time the Estimate was Generated.

matrix matrix<		uantities	and Valu	es are b		eport Generated date and can differ from the posted amo							
no. <td>Contract Nm.CONTRACT</td> <td>Project No.</td> <td>Category</td> <td>Line No.</td> <td></td> <td>Description</td> <td>Bid Quantity</td> <td></td> <td>Total Current Quantity</td> <td>Unit</td> <td>Approved</td> <td>Unit Price</td> <td></td>	Contract Nm.CONTRACT	Project No.	Category	Line No.		Description	Bid Quantity		Total Current Quantity	Unit	Approved	Unit Price	
No. No. Sector	191018-G03	J7S3230	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$7,447.59	\$7,447.59
no. <td></td> <td></td> <td>0001</td> <td>0020</td> <td>3049910</td> <td>MISC.PERMANENT AGGREGATE EDGE TREATMENT</td> <td>1,753.60</td> <td>277.80</td> <td>2,031.40</td> <td>TONS</td> <td>2,031.40</td> <td>\$37.67</td> <td>\$76,522.84</td>			0001	0020	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	1,753.60	277.80	2,031.40	TONS	2,031.40	\$37.67	\$76,522.84
Image: Construction of the section of the sectin of the section of the section of the section of the se			0001	0030	3105002	GRAVEL (A) OR CRUSHED STONE (B)	488.00	205.00	693.00	TONS	693.00	\$14.16	\$9,812.88
No. Socie Sizzacio Siz			0001	0040	4020520		6,917.90	-46.90	6,871.00	TONS	6,871.00	\$70.12	\$481,794.52
No. <td></td> <td></td> <td>0001</td> <td>0050</td> <td>4071005</td> <td>TACK COAT</td> <td>13,995.00</td> <td>274.00</td> <td>14,269.00</td> <td>GAL</td> <td>14,269.00</td> <td>\$2.22</td> <td>\$31,677.18</td>			0001	0050	4071005	TACK COAT	13,995.00	274.00	14,269.00	GAL	14,269.00	\$2.22	\$31,677.18
No. Image I			0001	0060	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	-1.00	1.00	EA	1.00	\$506.29	\$506.29
No <td></td> <td></td> <td>0001</td> <td>0070</td> <td>6161005</td> <td>CONSTRUCTION SIGNS</td> <td>1,700.00</td> <td>-413.00</td> <td>1,287.00</td> <td>SQFT</td> <td>1,287.00</td> <td>\$6.58</td> <td>\$8,468.46</td>			0001	0070	6161005	CONSTRUCTION SIGNS	1,700.00	-413.00	1,287.00	SQFT	1,287.00	\$6.58	\$8,468.46
No. No. OND <td></td> <td></td> <td>0001</td> <td>0080</td> <td>6161008</td> <td>ADVANCED WARNING RAIL SYSTEM</td> <td>2.00</td> <td>0.00</td> <td>2.00</td> <td>EA</td> <td>2.00</td> <td>\$101.26</td> <td>\$202.52</td>			0001	0080	6161008	ADVANCED WARNING RAIL SYSTEM	2.00	0.00	2.00	EA	2.00	\$101.26	\$202.52
No. No. Sine Description of the second s			0001	0090	6161009	FLAG ASSEMBLY	2.00	0.00	2.00	EA	2.00	\$20.25	\$40.50
Interpretation Interpr			0001	0100	6161025	CHANNELIZER (TRIM LINE)	100.00	0.00	100.00	EA	100.00	\$17.21	\$1,721.00
No <td></td> <td></td> <td>0001</td> <td>0110</td> <td>6161099</td> <td>INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR</td> <td>2.00</td> <td>0.00</td> <td>2.00</td> <td>EA</td> <td>2.00</td> <td>\$2,025.18</td> <td>\$4,050.36</td>			0001	0110	6161099	INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR	2.00	0.00	2.00	EA	2.00	\$2,025.18	\$4,050.36
Nome Cond Cond Second			0001	0120	6162004	TEMPORARY SHORT-TERM RUMBLE STRIPS	6.00	-2.00	4.00	EA	4.00	\$1,518.88	\$6,075.52
Image: Normal is and stands of the stand of the stands of the s			0001	0130	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$13,772.93	\$13,772.93
MARENCE PART. TYPE PEADS MARENCE PART. TYPE PEADS MARENCE PART. TYPE PEADS MARENCE PART. TYPE PEADS MARENCE PART.			0001	0140	6206000C		92,683.00	0.00	92,683.00	LF	92,683.00	\$0.08	\$7,414.64
Nome 001 010 622400 020100 00100 0100 100			0001	0150	6206001C		91,495.00	0.00	91,495.00	LF	91,495.00	\$0.08	\$7,319.60
0001 0100 <th< td=""><td></td><td></td><td>0001</td><td>0160</td><td>6221001</td><td></td><td>338.00</td><td>0.00</td><td>338.00</td><td>SQYD</td><td>338.00</td><td>\$14.55</td><td>\$4,917.90</td></th<>			0001	0160	6221001		338.00	0.00	338.00	SQYD	338.00	\$14.55	\$4,917.90
Mode 1000OPD 1000ORNERE FOOTINGS, EMBEDDEDInterInterOUTInterS1.316S23.888.80404020002124IRFRAVITYASSEMBLY (PERFORATED SQUARE STEEL1.818-2.001.6201.6201.62062.0062			0001	0170	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	516.00	-216.00	300.00	SQYD	300.00	\$15.43	\$4,629.00
No. Q200 Q31241 RREAKMAY ASSEMBLY (PERFORATED SQUARE STEEL TUBE) 18.00 -2.00 18.00 C.A 18.00 S204.54 S33.272.41 Q400 Q200 Q31272 2 IR NSST POST -12 GA. 2.88600 -2.00 Q400 Q.F Q.6800 G.F Q.6800 <			0001	0180	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$1,012.59	\$1,012.59
Image: bioline Tube: b			0040	0190	9031010	CONCRETE FOOTINGS, EMBEDDED	18.00	0.00	18.00	CUYD	18.00	\$1,331.56	\$23,968.08
Image: bit of the state of t			0040	0200	9031241		18.00	-2.00	16.00	EA	16.00	\$204.54	\$3,272.64
Image: Content of the section of the sectio			0040	0210	9031270A		2,896.00	-32.00	2,864.00	LF	2,864.00	\$7.04	\$20,162.56
004002400312002.5.N. PSST POST - 12 GA.2.8800.4200.25000.101.26000.77000.4001.000.4000.4000.4000.4000.4000.4000.4000.4000.4000.4000.4000.4000.400000.400000.400000.400000.400000.400000.400000.400000.400000.400000 <t< td=""><td></td><td></td><td>0040</td><td>0220</td><td>9031272</td><td>2.25 IN. PSST POST - 12 GA.</td><td>108.00</td><td>-12.00</td><td>96.00</td><td>LF</td><td>96.00</td><td>\$7.65</td><td>\$734.40</td></t<>			0040	0220	9031272	2.25 IN. PSST POST - 12 GA.	108.00	-12.00	96.00	LF	96.00	\$7.65	\$734.40
No.000 0250 9031281 POST ANCHOR FOR 2.5 IN. PSST -7 GA. 54.00 48.00 LF 48.00 548.00 54.00 745.00 50.17 745.00 50.17 745.00 50.17 745.00 50.17 745.00 50.17 745.00 50.17 745.00 50.17 745.00 50.17 745.00 50.17 745.00 50.17 745.00 50.17 745.00 50.17 745.00 50.17 745.00 50.17 745.00 50.17 745.00 50.17 745.00 50.01 70.01 20.01 <t< td=""><td></td><td></td><td>0040</td><td>0230</td><td>9031273</td><td>POST ANCHOR FOR 2 IN. PSST - 7 GA.</td><td>543.00</td><td>-6.00</td><td>537.00</td><td>LF</td><td>537.00</td><td>\$45.72</td><td>\$24,551.64</td></t<>			0040	0230	9031273	POST ANCHOR FOR 2 IN. PSST - 7 GA.	543.00	-6.00	537.00	LF	537.00	\$45.72	\$24,551.64
Index Open Open Open Open Single Single Project J753230 - Total Value Posted to 2 Single			0040	0240	9031280	2.5 IN. PSST POST - 12 GA.	288.00	-32.00	256.00	LF	256.00	\$7.80	\$1,996.80
Project JTS228 - Total Value Postad to Date as of Report Generated Date ST95,728.44 JTS222 0001 0270 3049910 MISC PERMANENT AGGREGATE EDGE TREATMENT 2,060.50 0.00 22,050.50 TONS 2,047.20 \$40.34 \$825,594.05 0001 0280 3106002 GRAVEL (A) OR CRUSHED STONE (B) 284.0 0.00 284.00 TONS 2,047.20 \$40.34 \$3,83,842.52 0001 0280 4020520 BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE 7,937.10 0.00 7,867.10 S70.47 \$553.901.25 0001 0300 4071005 TACK COAT 16,279.00 CAL 15,827.00 \$2.22 \$351,53.54 0001 0300 6161006 CONSTRUCTION SIGNS 1,465.00 0.00 14,45.00 \$2.01 \$1,044.00 \$6.88 \$8,88,95.22 0001 0300 6161006 CHARNELIZER (TRIM LINE) 100.00 0.00 14,45.00 \$2.02 \$2.02.5 \$40.60 0001 0306 6161026 CHANNELIZER (TRIM LINE) 100.00			0040	0250	9031281	POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	54.00	-6.00	48.00	LF	48.00	\$48.00	\$2,304.00
JTS322 0001 0270 3049910 MISC PERMANENT AGGREGATE EDGE TREATMENT 2,060.50 0.00 2,047.20 54.03 582,584.05 0001 0280 3105002 GRAVEL (A) OR CRUSHED STONE (B) 284.00 0.00 284.00 TONS 2,047.20 \$1.353 \$3.3842.52 0001 0290 4020520 BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE 7,97.10 0.00 7,937.10 TONS 7,860.10 \$57.47 \$553.901.25 0001 0300 407105 TACK COAT 16.279.00 0.00 16.279.00 GAL 15.827.00 \$506.29 \$1.012.58 0001 0300 6161005 CONSTRUCTION SIGNS 1.465.00 0.00 1.465.00 SCP 1.044.00 \$506.29 \$1.012.58 0001 0320 6161005 CONSTRUCTION SIGNS 1.465.00 0.00 1.465.00 SCP 1.044.00 \$101.26 \$2.025.52 0001 0330 6161005 CONSTRUCTION SIGNS 1.060 1.000 0.00 1.040.00 \$101.26			0040	0260	9035004A	SH-FLAT SHEET	777.00	-32.00	745.00	SQFT	745.00	\$16.58	\$12,352.10
0001 0280 3105002 GRAVEL (A) OR CRUSHED STONE (B) 284.00 0.00 284.00 TONS 284.00 \$13.50 0001 0290 4020520 BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE 7,937.10 0.00 7,937.10 TONS 7,806.10 \$70.47 \$553.901.25 0001 0300 4071095 TACK COAT 162.7900 0.00 162.79.00 GAL 15.827.00 \$506.29 \$51.012.88 0001 0300 6161005 CONSTRUCTION SIGNS 1.465.00 0.00 1.465.00 SGL 1.464.00 \$506.29 \$500.29 \$500.29 0001 0300 6161005 CONSTRUCTION SIGNS 1.465.00 0.00 1.465.00 SGL 1.404.00 \$506.29 \$500.29 </td <td></td> <td>Project J</td> <td>7S3230 - To</td> <td>otal Value</td> <td>Posted to D</td> <td>ate as of Report Generated Date</td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td>\$756,728.54</td>		Project J	7S3230 - To	otal Value	Posted to D	ate as of Report Generated Date							\$756,728.54
Notified		J7S3232	0001	0270	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	2,050.50	0.00	2,050.50	TONS	2,047.20	\$40.34	\$82,584.05
International Internat			0001	0280	3105002	GRAVEL (A) OR CRUSHED STONE (B)	284.00	0.00	284.00	TONS	284.00	\$13.53	\$3,842.52
International Internat			0001	0290	4020520		7,937.10	0.00	7,937.10	TONS	7,860.10	\$70.47	\$553,901.25
Nome Nome CONSTRUCTION SIGNS 1,465.00 Nome Nom			0001	0300	4071005	TACK COAT	16,279.00	0.00	16,279.00	GAL	15,827.00	\$2.22	\$35,135.94
No. Observation O			0001	0310	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	2.00	\$506.29	\$1,012.58
Nome PointOther PLAG ASSEMBLYFLAG ASSEMBLYDescription </td <td></td> <td></td> <td>0001</td> <td>0320</td> <td>6161005</td> <td>CONSTRUCTION SIGNS</td> <td>1,465.00</td> <td>0.00</td> <td>1,465.00</td> <td>SQFT</td> <td>1,044.00</td> <td>\$6.58</td> <td>\$6,869.52</td>			0001	0320	6161005	CONSTRUCTION SIGNS	1,465.00	0.00	1,465.00	SQFT	1,044.00	\$6.58	\$6,869.52
Interview <t< td=""><td></td><td></td><td>0001</td><td>0330</td><td>6161008</td><td>ADVANCED WARNING RAIL SYSTEM</td><td>2.00</td><td>0.00</td><td>2.00</td><td>EA</td><td>2.00</td><td>\$101.26</td><td>\$202.52</td></t<>			0001	0330	6161008	ADVANCED WARNING RAIL SYSTEM	2.00	0.00	2.00	EA	2.00	\$101.26	\$202.52
International Interna International International<			0001	0340	6161009	FLAG ASSEMBLY	2.00	0.00	2.00	EA	2.00	\$20.25	\$40.50
Interface, contractor furnished, contractorinterface, contractor furnished, contractorinterface, contractorinterf			0001	0350	6161025	CHANNELIZER (TRIM LINE)	100.00	0.00	100.00	EA	0.00	\$17.21	\$0.00
Mode <th< td=""><td></td><td></td><td>0001</td><td>0360</td><td>6161099</td><td>INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR</td><td>2.00</td><td>0.00</td><td>2.00</td><td>EA</td><td>2.00</td><td>\$2,025.18</td><td>\$4,050.36</td></th<>			0001	0360	6161099	INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR	2.00	0.00	2.00	EA	2.00	\$2,025.18	\$4,050.36
Mode <th< td=""><td></td><td></td><td>0001</td><td>0370</td><td>6162004</td><td>TEMPORARY SHORT-TERM RUMBLE STRIPS</td><td>6.00</td><td>0.00</td><td>6.00</td><td>EA</td><td>4.00</td><td>\$1,518.88</td><td>\$6,075.52</td></th<>			0001	0370	6162004	TEMPORARY SHORT-TERM RUMBLE STRIPS	6.00	0.00	6.00	EA	4.00	\$1,518.88	\$6,075.52
PAINT, TYPE P BEADS			0001	0380	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$14,115.19	\$14,115.19
MARKING PAINT, TYPE P BEADS MARKING PAINT, TYPE P BEADS MARKING PAINT, TYPE P BEADS Second Paint <t< td=""><td></td><td></td><td>0001</td><td>0390</td><td>6206000C</td><td></td><td>107,871.00</td><td>0.00</td><td>107,871.00</td><td>LF</td><td>107,871.00</td><td>\$0.08</td><td>\$8,629.68</td></t<>			0001	0390	6206000C		107,871.00	0.00	107,871.00	LF	107,871.00	\$0.08	\$8,629.68
SURFACING (3 IN. THICK OR LESS)			0001	0400	6206001C		105,630.00	0.00	105,630.00	LF	105,630.00	\$0.08	\$8,450.40
			0001	0410	6221001		283.00	0.00	283.00	SQYD	283.00	\$16.73	\$4,734.59
			0001	0420	6224010		468.00	0.00	468.00	SQYD	468.00	\$17.02	\$7,965.36



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items /	All Estimatos	(Including	this Estimate	۱ ۱
TOTAL FAIL / ALL REILS /	All Louinateo	Including		/

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract m.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
91018-G03	J7S3232	0001	0430	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$1,012.59	\$1,012.59
	Project J	7S3232 - To	otal Value	Posted to D	ate as of Report Generated Date							\$738,622.56
	J7S3408	0001	0440	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	3,177.00	0.00	3,177.00	TONS	3,280.00	\$32.08	\$105,222.40
		0001	0450	3105002	GRAVEL (A) OR CRUSHED STONE (B)	640.00	0.00	640.00	TONS	720.00	\$17.03	\$12,261.60
		0001	0460	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	11,978.80	0.00	11,978.80	TONS	12,168.00	\$72.97	\$887,898.96
		0001	0470	4071005	TACK COAT	24,773.00	0.00	24,773.00	GAL	17,432.00	\$2.22	\$38,699.04
		0001	0480	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	2.00	\$506.29	\$1,012.58
		0001	0490	6161005	CONSTRUCTION SIGNS	1,951.00	0.00	1,951.00	SQFT	1,218.00	\$6.58	\$8,014.44
		0001	0500	6161008	ADVANCED WARNING RAIL SYSTEM	2.00	0.00	2.00	EA	2.00	\$101.26	\$202.52
		0001	0510	6161009	FLAG ASSEMBLY	2.00	0.00	2.00	EA	2.00	\$20.25	\$40.50
		0001	0520	6161025	CHANNELIZER (TRIM LINE)	100.00	0.00	100.00	EA	0.00	\$17.21	\$0.00
		0001	0530	6161099	CHANGEABLE MESSAGE SIGN WITH COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	2.00	\$2,025.18	\$4,050.36
		0001	0540	6162004	TEMPORARY SHORT-TERM RUMBLE STRIPS	6.00	0.00	6.00	EA	4.00	\$1,518.88	\$6,075.52
		0001	0550	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$31,450.28	\$31,450.28
		0001	0560	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	168,517.00	0.00	168,517.00	LF	134,817.00	\$0.08	\$10,785.36
		0001	0570	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	166,501.00	0.00	166,501.00	LF	132,801.00	\$0.08	\$10,624.08
		0001	0580	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	925.00	0.00	925.00	SQYD	925.00	\$12.94	\$11,969.50
		0001	0590	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	1,380.00	0.00	1,380.00	SQYD	1,380.00	\$9.24	\$12,751.20
		0001	0600	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$1,012.59	\$1,012.59
	Project J	7S3408 - To	otal Value	Posted to D	ate as of Report Generated Date							\$1,142,070.93
1018-G03 Ove	erall - Total	Value Post	ted to Da	te as of Repo	ort Generated Date							\$2,637,422.03



Project: J7S3232

Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Line Number	ltem Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0280	3105002	GRAVEL (A) OR CRUSHED STONE (B)	9/2/20	9/3/20	1.00	TONS	RTE M	0.000	CL	10.215	CL	Final plan check discovered an underpayment of 1 ton. Payment made to correct this issue.
0300	4071005	TACK COAT	9/9/20	9/9/20	1,268.00	GAL	RTE M SBL	4.838	right	10.215	right	Tack used on edge treatment 9-1-2020
				9/9/20	2,633.00	GAL	RTE M NB and SB	0.000	Left and right	3.966 4.838	left and right	Tack used on edge treatment on 8-27-2020
				9/9/20	2,633.00	GAL	RTE M NBL	10.215	left	3.966	left	Tack used on left edge treatment 8-14-2020
0310	6123000A	TRUCK OR TRAILER MOUNTED ATTEN (TMA)	9/9/20	9/9/20	2.00	EA	RTE M	0.000	CL	10.215	CL	

Project: J7S3408

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0440	3049910	MISC. AGGREGATE FOR BASE	9/2/20	9/3/20	763.00	TONS	RTE B	0.000	NB Lane	9.968	NB Lane	
0450	3105002	GRAVEL (A) OR CRUSHED STONE (B)	9/2/20	9/3/20	326.00	TONS	RTE B	0.000	NB and SB Lane	15.866	NB and SB Lane	
				9/3/20	394.00	TONS	RTE B	0.000	NB and SB Lane	15.866	NB and SB Lane	
0470	4071005	TACK COAT	9/14/20	9/15/20	-924.00	GAL	RTE B SBL	0.000	Rt	0.939	Rt	Over payment made on 8-15-2020. Theoretical quantity was used due to contractor over sprayed the route. Used manual placement rather than automatics.
				9/15/20	0.00	GAL	RTE B NB	0.000	Left	9.868	Left	Material was placed on September 4
				9/15/20	4,971.00	GAL	RTE B SB and NB	0.000	Right	15.886	Right	Material placed on September 1
0540	6162004	TEMPORARY SHORT-TERM RUMBLE STRIPS	9/2/20	9/3/20	4.00	EA	RTE B	0.000	cl	15.866	cl	
0550	6181000	MOBILIZATION	9/2/20	9/3/20	0.50	LS	RTE B	0.000	CL	15.866	CL	25 and 50 percent paid out.
0590	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	9/14/20	9/15/20	47.00	SQYD	RTE B Radius Point	14.377	cl	14.381	cl	
				9/15/20	222.00	SQYD	RTE B End of project	15.942	cl	15.961	cl	
				9/15/20	222.20	SQYD	RTE B 100 ft. north Br A8710	7.725	cl	7.744	cl	
				9/15/20	222.20	SQYD	RTE B started at bridge header on Br A8710	7.800	cl	7.819	cl	
0600	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKI	9/14/20	9/15/20	1.00	LS	RTE B	0.000	cl	15.866	cl	

The information below this line are details from Line Item agency views. No Agency View Details Exist



Missouri Department of Transportation Contractor's Pay Estimate Summary Line Item Adjustments - All Estimates

Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks
LINC	Description	Туре	Adjustment Type	Number	Date	By	Amount	I Gillarks
0020	MISC. PERMANENT AGGREGATE EDGE TREATMENT	Overrun	Overrun	2	Jul 15, 2020	SYSTEM	(\$10,464.73)	
				3	Aug 3, 2020	SYSTEM	\$10,464.73	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',37.67000 - 37.67000, 'is applied (if non-zero).
			Overrun - To	otal			\$0.00	
	Overrun - Total						\$0.00	
0020 -	Total						\$0.00	
0030	GRAVEL (A) OR CRUSHED STONE (B)	Material		1	Jun 30, 2020	SYSTEM	(\$2,994.84)	
			- Total				(\$2,994.84)	
	Material - Total						(\$2,994.84)	
	GRAVEL (A) OR CRUSHED STONE (B)	MaterialCredit		2	Jul 15, 2020	SYSTEM	\$2,994.84	
			- Total				\$2,994.84	
	MaterialCredit - Total						\$2,994.84	
	GRAVEL (A) OR CRUSHED STONE (B)	Overrun	Overrun		Jul 15, 2020	SYSTEM	(\$2,902.80)	
				3	Aug 3, 2020	SYSTEM	\$2,902.80	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',14.16000 - 14.16000, 'is applied (if non-zero).
			Overrun - To	otal			\$0.00	
	Overrun - Total						\$0.00	
0030 -	Total						\$0.00	
0040	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Other Item Adjustment	ACAD	1	Jun 30, 2020	GIRGIA	(\$20,269.45)	Current 401.25 Base 475 Difference -73.75 6871 x .04 x -73.75 = -20269.45
			ACAD - Tota	al			(\$20,269.45)	
	Other Item Adjustment - Total						(\$20,269.45)	
	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Price		1	Jun 30, 2020	SYSTEM	(\$25,321.01)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
			- Total				(\$25,321.01)	
	Price - Total						(\$25,321.01)	
0040 -	Total						(\$45,590.46)	
0050	TACK COAT	Overrun	Overrun	2	Jul 15, 2020	SYSTEM	(\$608.28)	
				3	Aug 3, 2020	SYSTEM	\$608.28	Unit price based on averaged overrun adjustments for installed quantity on all previous payment estimates. Price Adjustments of ',2.22000 - 2.22000, 'is applied (if non-zero).
			Overrun - To	otal			\$0.00	
	Overrun - Total						\$0.00	
0050 -	Total						\$0.00	
0140	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Other Item Adjustment	REFL	6	Sep 15, 2020	GIRGIA	(\$142.92)	Copy of report and adjustments are on file and a copy sent to the contractor.
			REFL - Tota				(\$142.92)	
	Other Item Adjustment - Total						(\$142.92)	
0140 -							(\$142.92)	
0150	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	Other Item Adjustment	REFL	6	Sep 15, 2020	GIRGIA	\$179.99	Copy of report and adjustments are on file and a copy sent to the contractor.
			REFL - Tota	I			\$179.99	
	Other Item Adjustment - Total						\$179.99	
0150 -	Total						\$179.99	
0290	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Other Item Adjustment	ACAD	4	Aug 17, 2020	GIRGIA	(\$28,296.40)	Current 395 Base 475 Difference -80 7860.11 x .045 x (80) = -28296.4
			ACAD - Tota	al			(\$28,296.40)	
							(\$20,230.40)	



Missouri Department of Transportation Contractor's Pay Estimate Summary Line Item Adjustments - All Estimates

Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0290	Other Item Adjustment - Total						(\$28,296.40)	
	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Price		4	Aug 17, 2020	SYSTEM	(\$22,442.15)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
			- Total				(\$22,442.15)	
	Price - Total						(\$22,442.15)	
0290 -	Total						(\$50,738.55)	
0440	MISC. PERMANENT AGGREGATE EDGE TREATMENT	Overrun	Overrun	6	Sep 15, 2020	SYSTEM	(\$3,304.24)	
			Overrun - Total				(\$3,304.24)	
	Overrun - Total						(\$3,304.24)	
0440 -	Total						(\$3,304.24)	
0450	GRAVEL (A) OR CRUSHED STONE (B)	Overrun	Overrun	6	Sep 15, 2020	SYSTEM	(\$1,362.40)	
		Overrun - Total				(\$1,362.40)		
	Overrun - Total						(\$1,362.40)	
0450 -	Total						(\$1,362.40)	
0460	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Material		4	Aug 17, 2020	SYSTEM	(\$206,838.57)	
				4	Aug 17, 2020	SYSTEM	\$206,838.57	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0013) due to user girgia overridding Payment Estimate Exception 1 on the current Payment Estimate.
	- Total						\$0.00	
	Material - Total						\$0.00	
	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Other Item Adjustment	ACAD	4	Aug 17, 2020	GIRGIA	(\$10,204.45)	Current 395 Base 475 Difference -80 2834.57 x .045 x (80) = -10204.45
				5	Sep 1,	GIRGIA	(\$33,600.35)	Current index 395 Base Index 475 Difference -80
					2020			9333.43 x .045 x (80) = -33600.35
		ACAD - Total				(\$43,804.80)		
	Other Item Adjustment - Total						(\$43,804.80)	
	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Overrun	Overrun	5	Sep 1, 2020	SYSTEM	(\$13,265.72)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
		Overrun - Total				(\$13,265.72)		
	Overrun - Total						(\$13,265.72)	
	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Price		4	Aug 17, 2020	SYSTEM	(\$8,093.26)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
	LEVELING)			5	Sep 1, 2020	SYSTEM	(\$26,648.81)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
			- Total				(\$34,742.07)	
	Price - Total						(\$34,742.07)	
0460 - Total							(\$91,812.59)	
Overall - Total							(\$192,771.17)	